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3. Consider a real production planning problem. You are given demands (real and
forecasted) for each product for the next four weeks and an LP software package.
You are asked to provide a production plan for each product for the next 4 weeks.
Describe
(a) What other information and data you will collect in order to come up a

production plan?
(b) How will you use the collected information and data to set up an LP model?
{c) What are the assumptions you made in setting up the model?
(d) After solving the LE model with the software package provided, how do you
use the information obtained fromthe LP software to manage the production

system?
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(1) QFD
(2) Value Analysis
(3) TPM
(4) Cross-Docking
(5) Blanket Order

(6) Lean Production.

(7) 1809000 {2844
(8) Kaizen
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F\A |1 2 3 4 5 6 1 8 9 10 11 )12
1 1991 [1676 |2723 |3565 |4688 5086 |5621 |5428 14383 |3433 |2743 |1843
2 2109 |2032 2651 [3323 14663 4704 {6010 |5616 [4235 3753 |3056 (2187
3 2216 12496 [2765 3748 |5067 (5195 16026 5513 4440 13152 2460 |2408
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e (ESERFE (o)) |RUE(ESE
A 0.2 —

B 0.4 A

C 0.3 -

D 1.3 B, C
E 0.1 —

F 0.8 E

G 0.3 D, F

H [ 1.2 G

| S




‘H2ZAGIZH)

%E"\“%&ﬁ‘ﬂﬁk% R TR
N EEEWRFELIEAZERTE FE : EAEE.

T - AT BT RS SRS (A BT (B
(C)HEFEHA LR - A HREFFRABERAS250,000 » SEAIBBRR
KE$500 « B HREEEBRAES2, 500 - C HRASFAERABERA
§50,000 S ELEHBBHERAISS1, 000 5S4 R ERE TREARE ?
HIRER 100 MRS  (THESHE? (15%)

B~ TR N ER T B SRR S A TR o (K FCES ﬂlﬁFﬁS ,BALA FCRS,
SPT, (R ¥Rl KA TIFIHFLERTRC ORI R T S ER e -

(15%)
g HEHR(R) Z#(X)
A 3.5 7
B 2.0 ~ 6
C 4.5 18 -
D 5.0 22
E 2.5 4
F 6.0 20
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1.(1) List five usual steps of an OR study (5%). _
_ (2) Point out at least three major difficulties for you to use Linear Programming to
optimize your life planning (I-I.int Think about your objectives and the constraints)
- (6%).
(3) %’“’]’ﬁ@ﬂﬂlﬁﬁ}ﬂuﬁ"%ﬁﬁ ﬁ%’c‘ "‘*ﬁ =L m@Iﬁ_&LE&SZK
EELRASH-REEAAL - AT - FE - BEEEERShG - DAESE
HT:EB@%@?%%‘ o S RSP 5}5]% 300 ~ 150 ~ 420 ~ 240 B
PO EC S o L BRI SRR IR 400 ~ 320 - 180 210 iy - & TIREEEA A
R CREIEBRARERR AL T RS -
-l E%f’rfr%‘*it&gﬁtuﬁ%ﬁ‘izliﬁ%o BHESRANEEES -
aidh A I St {468
bl 60 80 160 240 300
T .= 170 30 80 180 150
"ER 575 230 170 90 30 420
S 270 200 180 — 240 °
=k e 400 320- 180 ) "210
(DFEFIELLRIRE PR S EE 2 ? (2%)
- (D)FFFRHEAE (BEIEAE) - (4%)
(ORT—HARER GENETIHGERE) - (8%)

— ==

-
— —

2 Minimize 2X,+3X,
Subject to X, =2 .
4X, 43X, = 12 i
XX, <38
X, ' X; =0-

(1)Solve this problem graphically. (10%)

(2)Change the constraint X,+2X, = 8 to X;+2X; £ A Discuss how the value
of A would influence the optimal solution. (Consider all possible values of A as a
real number). (8%)

(3)Use the Simplex Method to find the initial solution. (7%)
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3. A new motorcycle has 3 wheels: the front wheel, the rear wheel and the spare wheel. In
a regular riding, spare wheel is not used. The life time for the front wheel is exponential
with rate g, and for the rear wheel is exponential with rate g and for the spare wheel
is exponential. with rate p3. When one of the operating wheel fails, it is immediately
replaced by the spare wheel. The motorcycle is declared unusable when more than two
wheels failed. .

(a) Find the probability that front wheel is the second wheel that failed (9%)
(b) Find the probabilify that spare wheel is the second wheel that failed(8%)
(c) Find the expected time till the declaration that the motorcycle is unusable. (8%)

. Cousider the following service system. The arrival process is a Poisson process with
rate ¢, the service time for each customer is exponential with rate u. The server wait
until 3 customers are present before beginning service on the first customer; thereafter,
he services-one at a time until all and all subsequefit customers until all 3 customers,

and all subsequent customers are serviced. The server is then idle until queue of size 3

is.formed again.

(a) Define the appropriate state for the systeni, and draw the transition rate diagram.
(15%)
(b) Set up the balance equations (10%)
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2) K1 (6 y)=r’ + 97 + 20y~ 4k -3y + SHIFTEHERHE(E

3) FUFREEERI £ (v, )= x? — dxp 22 P(, 2) 85 |, P(1,2) BE51 (2, 5) B 15
A

4) KLY y = x* ERYBEEISE (3,0) BEEH

) ReHh6xy - y* 3 =0 FEME (.2) BIBA (5 et

6) If A‘=('ﬁﬁ)n‘,, is a nilpotent matrix ( ZEFHE ) of degree k
show that I-A is non-singular( 7] J7FE )

NN N
LY I % ]

) 2
7) If M= { 1] , is M a posilive -definite ( {§iE ) matrix ?
3 . .

8y If W= {(,,2),(1,2,3)}, find the orthogonal complement
( EZXHGZEM ) of W.

9y If T is a linear transform f(rom a n-dimensional vector space
into it-self , show that T is one-lo-one( —¥— ) if and

only if- T is onto( BRA ) .

10) If b(nt+l)=b{n)+bn-1),

n 21 with b0)=0, b(l)=1, find
the general solutions( —A%XAT ). . i
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I. Multiple-choice questions:

1. (5%) Assume Pr{4)=0.3,Pr(B| 4)=0.75,P(B| A°)=0.2,Pi(C| AnB)=0.2,
P(C| 4° nB)=0.15Pi(C| AnB°)=0.8,P(C | 4° " B°) =0.9. Whatis Pr(C)? (a)0.60 (b)0.63
(c)0.66 (d)0.69 (e) else,

2. (5%) If E(X) = 17 and E(X’) = 298, which one of the following answers is the lower bound for
Pr(10 < X < 24) using Chebyshev’s inequality. (a) 9/49 (b) 8/9 (c) 40/49 (d) 21/25 (e) else.

3. (5%) Suppose that there are 12 songs on a compact disk of which two are your favorites. When
using the random button selector on a CD player, each of the, 12 selections is played once in a
random order. What is the probability that the second of your two favorites is the third song that is
played? (a) 1/33 (b) 1/66 {(c) 2/33 (d) 1/22 (e) else.

4. (5%) Suppose random variables X and Y have the joint probability density function:
f(x,») =8xy,0 <x < y <1. What is the covariance between X and ¥? (2)0.40 (b)0.42 (c)0.44 (d)0.46
(e) else.

5. (5%) A milling machine breaks down according to a Poisson process with an average 5 times a
year. What is the probability that the second breakdown will take place in 3 months? (2)0.36 (b)0.40
(c)0.44 (d)0.48 (e) else. ‘

6. (5%) A random sample: 2, 1, 2, 5, 2, ‘10, 5, 7, 9, 2, 1, 5 is taken from the
following discrete distribution: f(x;p)=¢""'p,x=1.2,--+,where g=1-p. What is the maximum
likelihood estimate of the distribution parameter p? (2)0.32 (b)0.34 (¢)0.36 (d)0.38 (e) else.

7. (5%) For a public opinion poll for a close presidential election, let p denote the proportion of
voters who favor candidate A, How large a sample should be taken if we want the maximum error of
the estimate of p to be equal to 0.03 with 95% confidence? (a) 1067 (b) 1068 (c) 1069 (d) 1070 (e)

else,

8. (5%) To compare the mean admission ‘test scores of applicants from two different areas,
independent random samples of n;= 15 rural applicants and n;= 17 urban applicants were selected.
Their results were x, =495, s;= 55 and %,= 545, s;= 50. Assuming both populations are normally
distributed with means yr and u,, respectively,.and equal variance, a 95% confidence interval for
w2~ 1y is (a) (19.1, 80.9) (b) (18.5, 81.5) (c) (18.5, 87.9) (d) (12.1, 87.9) (¢) else.

I | [ T [



B AL

ESE I’E;Fﬁ ¥ e -
ME:gEe

w7 i PRI R
e 7 PO
-

?

9. (5%) In a quality inspection, 2 defects are found in 12 random samples. An exact binomial test is
used to test whether the defect percent is larger than 0.1. What is the p-value ‘of this test? (a)0.32
(b)0.34 ()0.36 (d)O 38(e) else

10. (5%) A random sample is observed as the following: 23.0, 9.0, 2.3, 11.4, 14.1, 94, 0.5, 14.6, 17.5,
3.6,1.8,5.6,22.7,6.6,11.5. A y* test is used to check if the observations are exponentiall);
distributed. What is the p value of the test? (a)between 0.5 and 0.7 (b)between 03 and 0.5,
(c)between 0.25'and 0.3 (d)between 0.2 and 0.25 (e) else.

II. Interpretation and proof questions' ‘.

1:(10%) Explain the following briefly:
(1) Random sampling i
(2) Confidence coefficient
(3) Significance level
(4) Alternative and Null hypotheses
(5) The correspondence between interval.estimation and hypotheses testing

A%
e a

2. (10%) To have -a good approximation when we use the normal distibution to approximate the
binomial distribution with parameters » and p, the general rule of np=5 and n(l1-p)=5 has to be *

satisfied. Explain the reason why. . - -

3, (15%) Let X;, X2, X3 be mutually independent random variables with Poisson distributions having -
means f, i, Uz, respectively. If ¥ = X;+ Xs + X3, show that ¥ is also a Poisson distribution with ~
mean u; + Mo+ U3, " -4
4. (15%) A linear regression model is hypothesized as the following: Y, =a + fix, +e¢;,, i=12,---,n,
where Y,’s are the responses, x’s are the predictors, and e,’s are i.i.d. normal random errors with

Z,_,(x.r iy, -y Y)

be the least squares estimators of 8, .«

mean 0 and variance o Let B=

ZH (x, - f)z

derive the sampling distribution of B in details.
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1, — B/ N AR B T A —THE e e i R B L8R 7 '
~ (A)Router  (B)Switch  (C)Hub (D) Repeater
2. PUTUMEZER s - 3 RS 1 2 AR R 2 e A P T B :
B ? - : ' \ )
(A) SET (B) SSL (C) PK1 (D) Firewall > ]
3. THIH— B R B ST 7
(A) DHTML (B) ASP (C) PHP  (D)IJSP - 1
4, EHESEAEEE IP B9 ADSL HEE » THRERERESL?
(A) 255.255.255.0 (B) 255.255.255.128 .
(C) 255.255.255.192 (D) 255.255.255.248
5.CESEE funl KEHZMOF - ~ T
int funl(int n) ~ '
{ . .
if (n=0)
" return(2);

else
ifln=1)
return(l);
else
return(2 * funl{n-1) + 3 * funl(n-2));

}
M funl(5)=?
(A) 87 (B) 143  (C) 181  (D)217
6. £ CFEE L inta, *b, **c, d[5], ¥e[5]; HE& T @ THIREREIEE?
(A) *e[2]=a;  (B) *b=3; (C) a=**c (D) b=d;

7. R — T HEREFI] A[10][5] » RFITEIRANG 4 » HABIAAIE febo » FHAERHE O
BIY » £ tow major UL T « SARY FHI— MBI TCRAYAI AR ERE 7
(A) A[2][4] = fef2 (B) A[5][2] = {24 (C)A[7][3]=1f54 (D)A[9][1]=170

8. THIAnIEEk S SR IERE ?

(A) BRENE HTESNEE A Linked List 3RESFHE HRERAK A BARE
@) {ESARFHERRY F Stack 2R

(C) EAINVTRIEHRIEIE F Queue 2R5BRL

(D) BhiEZeRETECH A Tree ZK52RKL
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9. BERETHE A/B** C*D+E (BSRF - **>*,/>+,-)» ITAAIERE?
(A)Prefix : +*/** ABCDE (B) Prefix : +*/AB**CDE .
(C) Postfix : ABCDE **/* + (D) Postfix : ABC**/D.*E +
10. T%|75RH Binary Tree & R {A[F-FIEHE ?
(A) A binary tree is a finite set of nodes which is either empty or consists of a
root and two disjoint binary trees
(B) A full binary tree of depth k is a binary tree of depth k having 2+ _1 node
(C) For any nonempty binary tree, T, if n0 is the number of terminal nodes and
n2 is the number of nodes of degree 2, thenn0=n2 + 1
(D) A binary ‘tree with n nodes and of depth k is complete iff its nodes
correspond to the nodes which are numbered one to n in the full binary trees

of depth k
11. ERIERE R RS HER T IR ?
(A) Hierarchical (B) Network + (C) Relational (D) Object-Oriented

[\]

. FHUAE R F SRR R ThEE ?
(A) BREW  (B)CPUEE (O MEE (D) migles

13. FHURIACRATE R IERE ?

(A) EBEREAZRIAZ L. GB SHfT

(B) Parity Check WJLATE IERERHISEE

| (©) RIS 2 7 byte fEE

(D) ERiHIEAFEISEEH CISC HZeHs
14, FHURGACRETERIERE ?
(A) DVD-ROM ByZ:fLE CD-ROM By EALT 48
(B) e I S SRR Y
(C) BRI ST TS RAM ZRANBCH pRan iRy
(D) BEMrp s FIRSERTAT 2 AR 16 30
THIHT B B RGI T E R IERE 2
(A) {3 FERE IR A Sl AR R e — Bl
(B) ESIGEEAE RIS b LA AT
(C) SQL R LIFFENZsHEE i %
(D) DBMS i% DDL Eﬁi DML gy#aE
16. LA RALhRER 2243 ( functional programming ) HABHL » ﬂ%“%ﬁ‘?
(A A ETHRERIIEAFE = FEE R ohae g fE= -
B) L C EF AT AT DB 258, (global variable) FRHE -
(©) shhEsIEZATLIBE loop-control variable ZRIZHIHFEIGALIR «
©) tEERER T ERERES (function) ZHAGHEERIRSERES -

1

15.

Lh

D S —

*
e ‘
I ™ 1 1 T 11 T

i



5 3RS

%@i%ﬂ‘ﬂﬁk% | RH WA - TRA
jL‘f‘mfﬁfB’ E??’%Fﬁﬁﬁ:t‘fﬁ)\m%?ﬁ:ﬁ% BB : 3R (Z)

17. LI FA Eﬁﬁ‘tzﬁaﬁﬁl (variables) E‘Jﬁx_ TR ? . |
(A) Java FBE AT LIRS AR SHIT - REISRBL Nt - '
(B)C EE“*EF‘%%IH’JF“FLE%{EH%*& R —EGYE compile-time E_&._
SERER
©C EETZT?%{ E‘t‘&iﬁﬁiﬁ%ﬁ%@h&%mﬁ“ ‘
(D) Perl SEF BN AREAE ARIA R ER
18. ITH EEW#%FJE'%E&# (object oriented prOgrammmg) AIBRAT - (T 5
=%
(A) IHFERNEAPASHF AR A (methods) -
B) AEY-EEfEREE S W LI operator overloading HJEHRE -
(C) ByREERE (dynamic binding) 2—{HELFHAMEN (method call) 7 RHHYER
= . '
D) YRR RRBNERERES  MHEERARTP R EES) -
19. T AEE S RS EENESMMERE ?

— o —

.—Jh—- — = —

p— e P
=~

(A) Rt RS ET S » T E IR - \
(B) SR B O RIS T |
A - i

(O) C EBEMESEARG T AVE R R ARRORH -
(D) FEBTTRATABIIMHER (stack) T garbage collector FTEEE - !

20. LT BRIEGESEIMETE ? !
(A) EREFBAESBEARNENRES  SITHSCERE - '
(By ELREEAHEE SREAIBWENGES » [LREATEE - J
(C) C FEERUAREERS » WTLATREIFAERHNEIRE (type) FRAIHVSEER -
(D) C 585 48 static binding BITHEE -

21 DU A AR S Tt - ERE ? .
(A) HTTP 22— B Al DAGEF RIS iR B i E - ' l
(B) C+ +5BE THEEER CGI Ry, - . |
(C) CGI AR AARTE HIML HUREEHE -
(D) HTML A2 GE B 2B BE N HTTP (AR N a s T -

22. UFHRR Linux RSO FIGRSEERRIBRAL - fTERE ?
(A) Perl B—{EJRAI7E Win32 FEHITRIFIMEIAREEGES -
(B) GPL 2 Linux SRR —EEESHE -
(C) Linux HIBHE A BREEEHIRE » DRSS RIR MRS T -
(D) gee B—EBRENE LS -

I ————— rnwné
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WL B 3L & H B & K 2 A AR TEH

R ht B RS TASS RAE FIE ¢ RSTEES (2)

23, DUFYHEThRERIRET — E TR 2B As RS S 7
(A) Session

(B) Cookie v,

(C) Database access

(D) Generate HTML

24, DUFARE Java abstract class BER S AIE B E 7
(A) abstract class REJLAHE G (method) HIEE |
(B) abstract class RERAE &4/ (instance variable)
(C) abstract class NEJLAELEYF (instances)
(D) abstract.class tHAJLASZ final class.

25. LUFA R Java class variable BYERSMIETREL ?
(A) class variable 2 static ERHFHFRESHT -
(B) SRS YERIECIRES » thEEFESE class variable HIfHE -
(C) —HRHHEARTTLAFERY class variable BIH
(D) —{E public A class variable H] LAZRZ—{@& global variable -

26. AT HRIERERFHE S fTERE?
(A) LIFO 2—Fili% process scheduling. FYERHERE -
(B) ERfEEiE (virtual memory) TEEEREHEARAISRI-FREER -
(C) context switch =3B (time sharing) #YLEETHEE -
(D) Linux 22 NT #ZBoIRRERRERTRAIZIRE -
27. PP AR ETE SRS METE?
(A) AT SEH RN RN -
B) Java RS E G HRESHSESHED -
(©) EEESTEESREY (functions) KIEZFFF -
(D) MAESHEEEIMERERFY YR (registers) BYTHEE -
28, LU FE BB HFRE: (regular expression ) MGG » (TETH ?
(A) BRES T HIGH ERE AN RERERE —EEHIONE -
(B) BRFE SRR EH N REHERE TN -
() —EEHFTRIEALAFRGIIREFE (state transition diagram) «
O ERFREEE T EE S EEER W RS -
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B i BM®RP R AE R AR « TER
NABESFRELIASTHRE v bR ©

29. LT ERRME VAR EIE (abstract data type ) BYBHEIL » AIFNE ?
(A g UE R R — A RS s -
(B) #h&EXERIBIREHHFAE » WRLEBAMKINE (interface) » HHHE
Kl -
(C) g AR B R EE RS T ek i Digiid  (BEEEATrERHE
Higtk - BRI EE -
(D) C S th T IR RS R I -
30. UFARA C sESRIBGL - 8T H ?
(A) CEES R — (AT EET (call-by-value ) HAEIES -
(B) C EES B EHMEAY (call-by-reference ) »
(C) C &8 (functions) KYZ:HEE BB ECIEIE S B BRI S

(stack) EEAEEHIRER - .
(D) extern BY{ FAEH linker #ERH -
— - RIERE (40 43)
1. fA7E EC ~ B2B ~ B2C ? SAE8H1 EIAIRERT B2B - B2C Ay SotiBisi 2 -
(1043)
2. ERFHFRET, HASIERTEE K  ABHRRMTERRETI L
& - SR R A %ﬁﬁ*ﬁﬁ’ﬂﬁ% ° (10 77)

3. HTML Afir=AERSAE =\FE 5 40 ASP 52 PHP 2 B IR SRR AR - BliE
T2 S L ST RL A R HTML AUt B s S (U h -
(1)

4. FRBLC ~ Java ~ Perl HHHE—EF S ME—EER - EEEEIENERE

B ETRHENS - EAEAHE suin A (B4 - ERERE BRI ET

ENHY » ZARERRIERIEN T TR B R R R S

r BEHER, BEIERERA 99 K1t - HEREGRAEEEFE I EN

[ AET o SERTL  BESTAETRVEL » DBRE - R THERFER
i BHET - AR RS AU R PR R (1547

:;' Name; Password:
| Mary Dog_and cat
; Peter Simon
1 ' Paul Rome
Tim ' ’ Borther
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Part I. Microeconomics(each question 2 points): choose the best answer. (.Z*‘%’ AR i'lfl)
1.

. Non-satiation implies that consumption bundles;’

- utility maximizing bundle is:

Suppose that two book stores are located at a=1/4 and 6=5/8. What is the point of
market segmentation according to Harold Hotellin'g’s'm'(.)-del?, 2 '
(A) 173, ) S e
(B) 7/16. Tl e
(C) 1/2.

(D) Cannot be determined with the information glven.

(A) Which contain fewer of all goods are preferred,

(B) Which contain more of one good and less of another are preferred

(C) Which contain more of all goods are preferred. '

(D) Which are nearer the origin are preferred. N ) )
Which of the following assumptions is.niot generally applied to an indifference’
curve? ' ST | '

(A)Convex.

(B) Diminishing MRS

(C) Smooth.

(D) Transitive.

Beth consumes two goods, x, and X25 and her income is $120 The pnce of x]

is 8§10, and the price of x, is$5. If her utrhty function i Is U( Jt:l s Xy )= .wcl +x2 , her

+

1. ‘o PN ‘o .,

(A7, 10). - : _
®) (12, 0) A
(C) (0, 24) .
(D) (3, 8)

If two linear demand functions intersect the quantity axis at the same point, then

(A) When quantities are equal, so are the price ¢ elastrcrtres . -,
(B) When prices are equal, so are the elasticities. ) —
(C) At the point of intersection the two elastlcrtles are equal to one,
(D) None of the above.- :

Tom currently has 100 units of, x, and 50 units of . x2 \ and Jan has 50 units of
x, and 100 units of x,.Tom’s-marginalrate of substitution is 10, and Jan’s is 1.
(A) Pareto-improving trades involve Tom giving up -x for x,, o
(B) .'Pareto-improving trades between Jan and Tom do not exist. e

(C) Pareto-improving trades involve Jan givingup x, for x — o
(D) None of the above R

—
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7 The Paasche and the Laspeytes 1ndexes. o . .
(A) Always agree with each other ,
(B) Give the same numerical value
(C) Give the same qualitative values,
(D) May contradict each other.

8. Ifa good is neither normal nor inferior, then:
(A) The income effect is larger than the substitution effect.
(B) The income effect is smaller than the substitution effect.
(C) The are no income effect. ‘
(D) The are no substitution effect. ,

9, According to the separation theorerr;i,‘ individuals choose consumption

expenditures by choosing the one that maximizes utility while making the present
value of income: o o h ‘
(A) Not smaller than the present value of consumption exﬁenditures.
(B) Equal to the present value of consumption exper;ditures.
(C) Independent of the present value of consumption expenditures,
(D) Not larger than the present value of consumption expenditures. .
10. The life cycle model hypothesizes that: )
(A) Older people spend more than they earn.
(B) Younger people earn more than they spend.
tC) Younger people spend more than they earn.
(D) Older people are less risk averse.
11. Suppose that a firm uses a technology for which the MP of a variable factor is
initially rising. Then: ‘
(A) Total And AP.are maximized when MP is zero.
(B) MP is maximized before AP. .ot
(C) MP is maximized before AP is falling.
(D) The firm will never réach diminishing marginal productivity.
12, Variable cost may be defined as:
(A) The least expenditure on variable inputs to-produce a level of output.
(B) The vertical distance between the APC and SRAC at level of output.
(C) The change'in TC as more of the variable factor is employed o .
(D) None of the above. '
13. The demand for inputs is conditional on the : ' )
(A) Supply of inputs. d - : v
(B) Marginal rate of technical substitution. - - . L i
(C) Level of output. T
(D) Consumer’s choice problem.
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14, A cojr,antifivg ‘ﬂ;nq'gtshq_gf_ggn}supély curve is ,its:u
(A) SAC curve to the right of its SMC curve.
(B) Owner s preference ﬁmctlon ) L . ,
(© SMC curve: above its SAVC curye. ] R
(D) SMC curve above its SAC curve, ) o ) -,
15. Import tariffs have the effectof. ., . .- . A
(A) Reducing producer surplus, . : B
(B) Increasing consumer surplus. -
(C) Increasing producer surplus.
(D) Lowering the market price in the domestic economy.
16. If everyone thought that the world will end tomorrow: ,
(A) The interest rate would fall to zero.
(B) The interest rate would rise to inﬁnity ., .. L TP
(C) No one would want to borrow anythmg - ‘
(D) The effect would be the same as if only 10% of people thought the worl@mll
. end tomorrow. o, - -- o W
17. The profit-maximizing monopohst that faces a horizontal TC curve W111
{A) Shut down and move to his best alternative employment.
(B) Charge a price equal to MC and satisfy total market demand. -
(C) Produce that level of output at which MR is equal to zero.
(D) None of the above,

18. Donna’s firm uses one input, z, and she sells her output at $10 per unit. The
marginal product of z is 10-z and the price of z is $20 per,unit. The profit. . .- .
maximizing quantity of z is:

(A)5 A .
(B) 10 e
©)55 . Coa -
(D)8 o S S 7

19, Which of the following assumptions does not apply ta Edgewqrth Box discussions
of general equilibrium: . -

[ | IH . ?
(A) All Edgeworth Box allocations are Pareto optimal. |, s
(B) Both goods are essential for all consumers.
(C) Economic well being is determined only by the quantities consumed.

(D) Indifference curves are smooth and convex to the appropriate origin.
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20. A profit maximizing monopsonist-chooses aggregate ql'lantit)? of input so that:

"
-

(A) Price equals marginal factor cost."*
(B) Marginal revenue product’ equals aggregate margmal factor cost.
(C) Marginal factor cost equals aggregate input quantlty
(D) None of the above. : ,
21. The level of output per firm under Nash and Cournot equilibriums ‘are: A
(A) Always the same. ’ '
(B) Never the same. . ' '
(C) Often the same.
(D) Seldom the same.
22, The equilibrium price in the Chamberlm model of monopolistic competition is:
(A) Both individually and collectively irrational. *  ° ° g
(B) Collectively rational but individually irrational.
(C) Both collectively and individually-rational.
(D) Individually rational but collectively irrational. -
23. The expected utility hypothesis requires information about all of the following

1 a4

except:
(A) Outcomes. T ‘L
(B) Preferences. - ' '
(C) Probabilities. "
(D) Prospects.
24, Transactions costs are costs that violate:
(A) The rulés of the game.
(B) The Coase theorem. B - I
(C) The rules of market allocation. ’ -
(D) Economic property rights. ! l
25. The term adverse selection refers to a situation where: '

(A) Most people are poor insurance risks.

(B) People who buy-insurance need it. .
(C) Most people don’t need insurance.

(D) People are over-insured.
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Part IL. Maeroeconomlcs (each questwn 2 points): choose the best answer fL,é A {glj d'\l)

1.

The central-macroeconomic concept that is'most clearly related to changes in the
well-bing of the average member of the economy is,the-*

A, Inflation rate.
5. Interest rate.

c. Foreign trade deficit. ) Sy ’

'D| Productivity growth rate. ‘ i -

A foreign trade deficit is financed by a combination.of g .
A. Selling securities to foreigners and buying foreign assets. - '

B. Selling securities and assets to foreigners. - | .o

C. Buying foreign securities and selling: assets to fore1gners.

D. Buying foreign securities and assets. o B P

In the simple circular flow model contammg just households andbusmess firms, +: ’
all income s received by households in .exchange for
A. Consumer expenditures.

B. Wages. : C o
C. Labor services. . ’ '
D." Product. - . b
Which of the following in not a “flow’ variable? . e
A. Government debt. ' N o e

B.. Consumption expenditure. I .
C. Labor services. . ..
D. Income. ' . : ;
Which of thie'following is-included in the GDP? : N

A. The current services flowing from the housing stock.

B. The estimated value of drugs sold illegally.

C. The estimated value of leisure time. ) £

D. Transfer payments such as Soeial Security and veterans’ beneﬁts A
A change in real GDP sums,up changes in . =

A. Prices alone. - - . . . S
B. Physical production alone, ‘ ' -

C. Physical production minus changes in price. y i ‘
D. Physical production and prices. c .
Fluctuations in total output are the reverse image of fluctuations in -

A. The inflation rate. - - ) : , 1
B. The unemployment rate. o )

C. Gross domestic product. . !
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D. The GDP deflator.
8. Suppose that equilibrium income is 3200 and the multiplier is 2.38. Equilibrium
income would rise to 3400 if planned investment
A. Rises by 84.03. ' ‘ P
B. Rise by 476. ‘ ‘
C. Rises by 105.
D. Rises by 256.
9. Atevery point on the IS curve, the level of income on the horizontal axis equals
A. Planned autonomous spending.
B. Planned autonomous spending times the multiplier.
C. Planned autonomous spending divided by the multiplies:
D. Planned expenditures times the multiplier.
10. In the IS-LM model, equ111br1um income can be affected by
A. Fiscal policy alone.
B. Monetary policy alone.
C. Both fiscal and monetary policy.
D. Neither monetary nor fiscal policy. .
11. In deriving LM curves, holding the real money supply constant while raising real
GDP cause us to '
A. Trace up along an LM curve.
B. Trace down along an LM curve.
C. Shift the LM curve to the right.
D. Shift the LM curve to the left.
12. A vertical IS curve comes from.the assumption that changes in the interest rate do
not affect
A. The money demand.
B. The money supply.
C. Autonomous planned spending,
D. The LM curve.
13. In the IS-L.M modgl, the fiscal multiplier effect can be increased by
A. Larger increases in government expenditure. ’
B. Expansions of the money supply.
C. Contractions of the money supply.
D. Raising the income tax rate.
14. Suppose we have an economy for which G = 300, T =240, S = 80, =45, and
imports = 40. Exports must be
A. 25,
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15. Actual output exceeds the natural output when - .
A. The actual budget deficit is above the structural deficit, too e T
B. :The actual budget deficit is-below.the structural deficit. « ;. . -
C. The structural deficit is posttive.
D. The structural deficit is negative, . ! . e
16. The Bretton Woods system broke down due to L
A. The British devaluation of the pound in1967. . Ciaws
B. Consistent U.S. trade surpluses draining‘dollar reserves from other pations. ,
C. Large U.S, trade deficits forcing foreign.central banks to buytoo.many- -
dollars. wal v s
D. Nations disallowing shipments of gold at the outbreak oﬁ World War IL.; 1
17. In moving from a small open to a large.open economy model, one.policy has its
effectiveness in changing equilibrium income,enhanced: ., .., . .- o
A. Monetary-policy under fixed exchange rates - » - - T ey
B. Fiscal policy under fixed exchange rates. - eoov o
L. Monetary policy under flexible exchange rates. ,,
D. Fiscal policy under flexible exc:,hange rates. . ) Cor
18. A rise in the price level causes . : R LT
A. The LM curve to shift downward. . o
B. *The LM cuyrve to shift upward. , . . '_ T
C: Movementup-along.an LM, qurve.
D. Movement down along an LM curve. o
19. The “Pigou effect” is the stimulus to aggregate demand when a lower price level
causes !
A. Alower interest rate to increase fixed investment. ) .
B. A lower interest rate to increase inventory investment. Eoe
C. A lower interest rate to increase the demand for consumer durables.
D. Holdings of money to increase in purchasing power, thus raising consumption
demand.
20. The “New Keynesian” macroeconomics is centered on
A. The assumption of continuous market-clearing.
B. The importance of technological shocks.
C. The imperfectness of the information held by economic decision-makers.
D. The rational reasons for slow price and wage adjustment.
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21. In the foolmg model real wages

A
»

A. Are countercyclical.
B. Are procyclical. ,
C. Are constant. o, -
D. Show no clear cyclical pattern: ~ * )
22. The New Classical assumption of how quickly’ markets clear—ls actually most
appropriate in the analysis of " o

A. The labor market. ' :
B. The aggregate good market.

C. Financial markets. ’ . Co aa !

D. The market for consumer durables. - o ; : I
23. If nominal demand falls by 4 percent, real.output remains unaffected '

A. If every firm raises its price by 4 percent. '

B. Ifevery firm holds its price constant, - ! - o

C. Tf évéry firm lowers its price by 4 percent. * ]

D. Under no circumstances: it must fall. . - RS : ‘ :
24. When the expected inflation rate is 5 percent we know to draw the short-run . '

Phillips curve through the

A. Horizontal axis at Y = 105. ~ u .

B. Horizontal axis at P=1.05. : o

C. Long-run Phillips curve at P = 1.05.
D. Long-run Phillips curve at P =5.
25. Over a year, the money supply in a nation grew by 6 percent, while velocity fell
by 1 percent and real GDP rose by 2 percent. .Thié results in an inflation over the
year of ' )
A. 9percent. 4 - . .
B. 7 percent. .
C. 5 percent.
D, 3 percent. ; o ' )
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